SET B
DE MENT OF POSTS

MTS DIRECT RECRUITMENT EXAMINATION FOR THE VACANCIES OF 2009-12
P&BI A - GENEB&L KNQWLEQQE
Date

Marks:25x1=25

Multiple choice questions - All questions carry equal marks
.These are to be answered by writing the correct option in your answer sheet

—

National sport/game of India is
a) Cricket b) Hockey c) Football d) Chess
2 Viticulture in Agricul_ture refers 10  vwww.previcuspapers.in

a)Worm rearing b) Grape production c) Honey making djnone of these
3  Golden Revolution in Agriculture refers to:
’ a)Potato production b) Qil seeds production
c)Fruit production (apple) d) Egg production

4 The first State created in 1953 on the basis of language was
a) Andhra Pradesh b) Kamataka c) Maharashtra d) Assam
5 The number of players on each side of sports-Foot ball is
a) 9b) 12 c) 11 )7
6 In sextual production of the f@tewing plants, the first event involved in this is:
_ @) Fertilization b) Germination c) regeneration d) Pollination
7 Area wise smallest State in India is
a) Sikkim b) Goa c) Kerala d) Jharkhand
3 Theory of natural selection was proposed by

a) Charles Darwin b) G.J.Mendell c) Jean Baptise Lamarck d)None of the above
9 The deepest Port of India is

a) Chennai b) Cochin c) Visakhapatnam d) Kanyakumari
10 The Indian citizenship Act was passed in

a)1950 b) 1952 ¢) 1954 d) 1955
11 The interpreter and guardian of the Indian Constitution is

a) President b) Prime Minister c) Supreme Court d) High Court
12 - The largest producer of diamond, Pannais located in

a) U.P. b) M.P. ¢) Gujarat d) Maharashtra
13 The body that framed the Constitution of India was

" a) Members of Assembly b) the Constituent Assembly
c) LokSabha d) RajyaSabha
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The place in India known as “Space City" is
a) Hyderabad b) Trivandrum c) Bangalore d) Mumbai

. The State/Union Territory that sends only one representative to the RajyaSabha is

a) Pondicherry b) Delhi c) Goa d) Chandigarh

One term is missing in a number of series :

Choose the correct alternative : 4,6,12,14,28,307

a) 32 b)e4 <c) 62 d) 60

Cricket Club of India (CCI), classic Billiards and Snooker tournament was won by
a) Rahul Dravid b) PankajUdas c) PankajAdvani d) M.S.Dhoni

Find the number of triangles in the given figure:

a) 16 b) 13 ¢)9 d) 7

Candidates fighting elections can be disqualified if they fail to disclose the assets

information was pronounced by

a) Election Commission b) High Court c) Supreme Court d) none of these
Plastic currency notes are to be launched in the year

a) 2018 b) 2015 ¢) 2016 d) 2020

Paper currency first statted in India in

a) 1862 b) 1542 c) 1601 d) 1680

Bharat Il is connected with

a) Air pollution b) Water pollution

c)Land pollution d} noise pollution

The status of Election Commissioner is equivalent to that of the

a) High Court Judge b) Supreme Court Judge

c) District judge d) Magistrate

Who discovered circulation of blood in the human body?

a) Edward Jenner b) Joseph Lister c) Wiliam Harvey d) JonhanEsabs

"~ The momentum of a massive object at rest is

a) very large b) very small c) zero d) infinity
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DEPARTMENT OF POSTS SET-B
MTS DIRECT RECRUITMENT EXAMINATION FOR THE VACANCIES OF 2003-12
PART-B - MATHS

Date: Marks:25x1=25
Multiple choice questions - All questions carry equal marks
These are to be answered by writing the correct option in your answer sheet
1. The least prime number of 3 digit is
a) 102 b) 101 c) 100 d) 103
z_. The unit digit in the product of 237x72x28x15 is
al 6 b) 5 cjo d)1
3. Convert the following decimal into fractions: 1.23
0.25
aj123 b) 123 c)12.3 d) 1230
25 25 25 25
4. The sum of 2 consecutive multiples of a number is 184. What is that number?
a) 8 b) 12 c) 11 d) 232
5. H total number of students in a school is 1000, in which 70% are Hindus, 16% are Muslims,
4% are Sikhs and rest are Christians, find the no. of Christians.
a) 150 b) 200 c) 125 d} 100
6. Calculate the following: 25.3+0.32+2.132
a) 277.52 b) 2.7752 ¢) 27.752 d) 2775.2
7. First and second numbers are respectively 20% and 40% of the third number. What
percentage is the first of the second?
a) 40% b) 50% c) 60% d) 30%
8. Pass marks in an exam is 33%. A student who secures 210 marks fails by 21 marks. What is
the maximum mark of the exam?
a) 700 b) 680 c) 720 d) 750
9, If A:B=4:5, B:C=6:7 find A:C
a) 28:30 b) 20:42 c) 28:42 d) 24:35
10. Rs. 1200/~ is divided among Ram, Hari and Gopu in the ratio of 3:4:5. The share that Hari will
getis
a) Rs.300 b) Rs.500 ¢} Rs.400 d) Rs.600
11,

What number should be added to each of the four numbers 8, 21, 13, and 31, so that they
become proportional.

a) 5 b) 6 c)8 d)7

12. What is the mean proportional of 16 and 36?

a) 22 b) 24 c) 28 d) 18



13.

14.
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A shopkeeper uses 800 gm weight for each 1 kg weight and sells goods at their cost price.
What is the profit percent?

al 20% b) 30% c) 15% d) 25%

An article is bought for Rs.40/-. For how much should that article be sold so as to gain 25%,

a) Rs.40 b) Rs.55 c) Rs. 50 d) Rs.45

15.

16.

17,

18,

19.

What is the rate of simple interest at which a sum of money doubles itself in 5 years?
a) 3% b) 5% c) 10% d) 20%

Ram deposited a sum of money in a bank which pays 10% simple interest. At the end of 5
years, he received Rs.30,000, then what sum he had deposited in the bank.

a) Rs.20,000 b) Rs.20,500 ¢)Rs.22,000  d) Rs.21,000

The average of 6 observations is 12. If the 7™ observation is included, the average is reduced
by 1. What will be the 7" observation?

a) 5 b)a c) 6 d) 3

What rate percent does a man get for his money when discounting a bill due in 10 months, if
he deducts 4% of the amount of the bill.

a) 6% b) 5% c) 3% d) 4.5%

The average age of 7 members of a family is 18 years. If the head of the family is excluded,

. the average age of the rest of the members would be 5 years less. Find the age of the head of

20,

21

22.

23.

24,

the family?
a) 50 vyears b) 48 years c) 42 years d) 46 years

A scooter covers a journey in 9 hour with a speed of 48 km/h. Then how much the speed in
km/hour should be maintained tc cover the same journey in 8 hours.

a) 54 km/h b) 52km/h c) 58km/h d) 60km/h

Conversion of one square meter in square feet is :
a) 9.5sft h) 10.76 sft c) 9.9 sft d) 10.5 sft

Conversion of 10 meter per second into km per hour
a) 40 km/h b) 32km/h ¢} 36 km/h d) 38 km/h

Conversion of 72 km per hour into meter per second is
a) 30 m/sec b) 20 m/sec c) 15 m/sec d) 40 m [sec
A and B each walks 24 kms. The sum of their speeds is 7 km/hr and the sum of time taken is

14 hours. Find their speeds.

25.

a) 4,3 b)5,2 cjl,6 d) none of these

The banker’s discount on Rs. 1800 at 5% equal to the true discount on Rs.1830 for the same
time and at the same rate. Find the time.

a) & months * b) 12 months ¢) 4 months d) 5 months
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DEPARTMENT OF POSTS SET.B
MTS DIRECT EXAMINATION FOR THE VACANCIES OF 2009-12
PART-C () — ENGLISH

Marks: 25x1 =25

Multiple choice questions — All questions carry equal marks
These are to be answered by writing the correct option in your answer sheet

1I

3'

BI

10.

i P

12,

13.

e JUSE O tell my parents that | was fine

a) Called at b) called in c) called away d) called from
They managed to .................the fire before it spread to the neighbouring buildings.
a) Putin b) put off ¢} put away d) put out

We ..., gather at the school at 6 o' clock

a) Shall b) will c) may d) be

Ram was sleeping soundly.................| was working.

a) As b} while c) when d) since

I think | coinn..do it

al Wil b) shall ¢) can d) may

The Sun.................[shine) brightly when | got up this morning.

a) Shone bj was shining ¢) has been shining d) would shine
My sister........... (come) to visit me next week.

a) Will come b) would come c) has come d) comes

He handed over the report which he ............(wrote)

a) Has written b) wrote c) had written d) would write

Choose the synonyms: “caliber”
a) True nature  b) first appearance c] ability of a person  d) to say what will
happen in the future

You will be in serious trouble......................you work hard.

a) If b) unless c) yet d) and
wonnmennnenne.1@ had done his best, he failed.

a) As b) Since c) Though d) While

The bird is sitting ............the top ........ the tree.

a) of,on b) on, of c) over, of d) below, of

When he joined Indian Army, he was supplied.........c.ooen.@ gun.

al with b) for c) by d) on



14. The thief was sentenced............. five years imprisonment.
a) On b) to c} of d) for
15. We came back ................year ago.
a) a b) the ¢£) an d)none of the above

16. I woke up in ...........middle of the night.

a) a b) an ¢c) the d) none of these
17. I will be back in half ..............hour.
a) The bjan c)a d) one

18. Give the antonyms of “Vanish”.
a) Disappear b) appear c) cruel d) bring

19. Give the antonyms of “Alive”
a) Coward b) old ¢} dead d) bold

20. Choose the synonyms. “Glade”
a) Anopenspace b)of high rank ¢} wealthy d) weak

Read the passage carefully and fill in the blanks in the following questions choosing the words
from the passage:

The great advantage of early rising is the good start it gives us in our day’s work. In the early
- morning the mind is fresh and there are few sounds or other distractions so that work done at
that time is generally well done. The early riser also finds time to take some exercise in the
fresh morning air, and this exercise supplies him with a fund of energy that will last until the
evening. By beginning so early he knows that he has plenty of time to do thoroughly all the
work he can be expected to do, and is not tempted to hurry over any part of it.  All his work
being finished in good time he has a long interval of rest in the evening before he goes to bed.

21. Lateriser is ..................to hurry over to finish work.
a)happy b} tempted c) expected d) finished

22. Inthe early morning there are few .................. so that work can be well done.
a)energy b)time c) freshness  d) distractions

23. Exercise supplies .................that will last until the evening.
a) time b) energy c) freshness  d) distractions

24. Early riser finds time to take some.................in the fresh morning air.
a) exercise b) rest c) quiet d) peace

25. Early riser gets .....cceovevieeinne in the evening.

a)fresh  b) time c} rest d) energy



SET-B
GOVERNMENT OF INDIA-DEPARTMENT OF POSTS
ANDHRA PRADESH CIRCLE

EXAMINATION FOR FILLING UP OF THE POSTS OF M.T.S (Direct Recruitment from
open market for the vacancies of the years 2009-12)
Part C-II (Regicnal Language-Telugu)

Rdoabe: ... a0RE0e Srdopen: 25

NG OMD AIWED DI LD TS0 ADEED T PAFTIdwuS 2D AR

By DT Os MDbedodin 2 dy) e DATHE.

Ol Rdd Db g Ddkn Sia' 00) orgdw, O wUSTTY) BB dRwed?

(A) Beudrreoosdo (B) ertrandrdreoosedo

(C}  ByorwdrIocsdo (D) vaudrFrooste

Dé. 2088 = Q08 + 28 L RR—

(A) =g Rod (B) wg 2ot (C) &gRod (D)aboriay 2o

03. Bewrd s’ edoyen I ?

(A) 3 (B) 37 (C)1s (D) 14
C 04, Sewrd eris Sganen o ?

(A) 56 (B) 54 (C) 52 (D) 58

05. & 200 orgjo &' A3 623 BET) Adod, DTS DOJOIrD) HBoSod.
VIO WD 18y by BT,

(A) @ydoir Dasg (B) otS'83 poar D58 (C) agdan D353 (D) Hosds D53
06. & 200 T[S D Aair Dy Mo,

Trdoahy Ssdraie Babod” o dodd S e, DO dbir dod Doby
DodRITy &,

(A) Sadbco (B) Bodocd (C) 28 cher (D) Dedruary
07. 6,68 TSj QOPTPED coovrnen 2P DEFS0 D8 SORTEQ.
(A)  Rorpdo (B) wotio  (C) robd (D) a2u¥o

08 . oedandh esmblm Sy u:.ua‘%o 2.8~
(A) Polrg Sreja (B) ®oFRy or8jdw (C) worodd orsie (D) ot gge
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09 . 'cid orgor, THIT?" wdy Trge 823 aorirdn?
(A) &.arbé T (B) mg*g SEEi (C) Poodng Tsjo (D) @0k Jsio

10. TP o8y 30 33, FETUD DY, ST SEDDY 03 TS0 2.8

(A) oG TS (B) D03 TS (C) waross Trgio (D) So TS50

1. GoTy as edraipse Do Gotnod) R TEjs &y ardaio DA?
(A) ST D (B) sadro duddo (C) Do (D) sotwod
112, 8300 Sodinen TENUOT DT wodtiue” By TE@D, D weos*od) dbab
BR0ob?

tA) sbarwesde (B) droswostde (C) ‘J-)_garsg wuesdo (D) wa#drd vuosto
13. & 806 orgio &' A AdD eSS voT'dh oo MYotsod.

‘B0 DT OG0 DoRYHBD VD 83 SFRHSOT) 0.

(A) S¢S0 sty a0 (B) 5¥ dmocd Daorr &y b drpdoryow (C) oror 2ol
Dncirey drpdos aw (D) swa DOTeOT™ &3y an

14, 'Bh DOL T’ 0P ToEio &0 PAFDHE S0HD wdood.

(A) D (B) 08g (C) oorcd (D) D6 s°co

15. ‘Tdo# 0o’ ) DHHL D DodE aoriron?

(A) romRod (B) 2ag &g wed (C) 9,8 od (D) chrrds Rod

16. ‘Dot £3¢° §8 oo SO 0w’ 8510 D LS ERLIH Dot ?

(A) w63drs vuosdo (B) &dyuosde (C) eddrecsde (D) drostwssdo
17. & 808 Tg(oes'D awéwya:mgmm.

Duen o’ AEIEES SuE LT Gotnod.

(A)  yen ' (B) =ew (C) decsires (D) Sy
18, ‘T 83 oraged’ ST S er’ ') ardotio DB?
(A) TraEs (B) orasge (C) agye (D) Eﬁ‘mgm_}

19. & 808 TrgjRe’ Ad AbD DErdE 26 0 RAFTFSo DDB?

PoDEE 6] DE Lrddy’
(A) 202> (B) b (C) 382» (D) b

20. & golt TS0 ') Ad A wETD) AN DS DAEIED) HEoSod.
PErDFod’ GO Do LrLod’

(A} 2322 D88 (B) podr Dag (C) vddn d5¢ (D) waod DY



-,

& 208 TrEpeTR) SO, RdWAD D) od HOELD Darerde bsded.

oo o Dhabed roadEs 120 3 oo’ God. 1O Boddyde 37.7 Dobaby
2008 DB SLODD IS Y Frro oD BT ®. TR Foord’ rur Ere 8D DaD
T80 DEE0 6,700 Etn pHy DEECS. & THTOD ‘TLE Jonk  BD BSyed o
Jeore’S B0, rEBGES'D wotn TG’ 21 Too Sehdod IS B TbIoT obd
B00d o0 Ddasw ddye Stoaraw. Dir I 15 VLY S0d WL SLRRY BSY
SR0) MTROT®. drtidysers” JBE, DS, 200, 8B w was Irordud’ sotuaow.
T SFabds Do DiEn Shorr Tdds, DOELMCE JendE I HoTLR
260" d0dEo, D TwIIIS LD BT

28 oot DO Ao’ Arrds, g SOV, G B DD ol
Horerds Db ;gt‘.-‘“ D DESd. & 5 S6osS FFwo, Dachord Sobd a‘nn&ﬁg;m,
TPOAFAE, w2TDd Do) TOgS ROTLLTY L. RO Fovw ED GF6 worv rdoed
SIm'@)::-C:. Fordd 20 GOTrd 2g-d'D Fas D6 DD, & A BB R, BBINO,
200D, SV, BEFGve Jodd iprELre, Tradved Jof TFOAS PATLOTT) 0. DI u-gaﬁ‘
Aorsd 770 35" Dot oIy, S 36 720 3" obdh poiriped. Rordd pd r:::aqf%a-o.
Psodrco HG WAL SEFM. S;Ir SO3 doof, J@, W BD SdIW ey, vl Aose
AOS o0, Preaird, $2)6FD, Wb &DHIL &T) ow.
21. drddy awrd’ 2D wos rordsy” oy an?

(A) T'BE, DS, o3 yad, w508 (B) I'BE, 0,08, 2o, Db (C) 2.

| 208, 53,08, D'BE (D) DS, IBE, 208, 8 yud
22 . 326 D HO3 eDHO
(A)Aocrdo (B) s (C) dorraey (D) =50
23. o BB ragd Diced’ arod Sdo D e God?
(A) 125 (B)120 (C) 121 (D) Db s,
24 . 'orab Jond’ Ryed Do B Sylx DDB?
(A) arer £3ren Budbo (B) oL DITrUR Sudbo
(C) waHen HBsko duDd A dwdbe  (2)08 Swiye Sy SBA dirws dudbo
25 . Foradd 36 9 a?gﬁ" Seod 370007
(A) 8Bodri6 (B} oirard b (€) waererd (D) 2wes
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SET-B

DEPARTMENT OF POSTS-INDIA
MTS DIRECT RECRUITMENT EXAMINATION FOR THE VACANCIES OF 2009-12
ANDHRA PRADESH CIRCLE

PART-A GENERAL KNOWLEDGE
Date: Marks: 25 x 1= 25
Multiple Choice Questions-All questions carry equal marks. These are to be answered
by writing the correct option in your answer sheet

01. medolr =8oH 37

a) 888 b) ot c) S eres d) oo

02. "28sen6 " (Viticulture) 050 DI airdd Dowodod SID RrdwS?

a)arRarany Doddo b) &g Dog &ihg c) 8 aoird d) 26 s

03. "womrd DHdo" (Golden Revolution) wis .;553&95:».:1% Rotrodoet) BT ArDRwed?

alvwnge (worre= (b)  AFD Aoz c) Do &G | d) g e ad G
Bodw) &G &G (es>e5)

04, &riy ADAST 1353 & DO\ CIAD DS TrEn?

a)  eognd% |b)  drwes o) oy 4 ey

05. S ere5 &' 28 2t & &0l o s Roo45?

| a) 9 b) 12 c) 1 d) 7

06. 2wsy e’ (Plants) Sofs PYIWS G (Sexual Reproduction) DErdeds’ 2wt wodo (Event)?

a) dubgdno [b) Dwes g o) Hou Do [d)  voE Db |

(Fertilization ) {Germination ) (Regeneration) (Pollination)

07. DHDy B’ twDes Rolcirs” ©d D) Tho?

a)d3) e b) Ao ; c) Bov d) aﬁ‘goﬁ

08. dira Jobds DEroorly (Theory of Natural Selection) R8I GoDob?

a)er35 &rogS b)2. 8 28 | c)2S bl oarl, | d) 06 vm
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09. w66 B30 wd '3 L 83 (Deepest Port) Da?

a) 7S

b) E9yS

c) D?ar.’:-e.:-ln

d)  &rDare

10. "zrod D oée” (Indian Citizenship Act) RodS o DD Dhywdod?

14} 1950

b) 1352

c) 1954

d) 1955

1. 2768 Tramjorio g, Sojarye (Interprater) Auoain BoGEDE (Guardian) 367

| a) it b) oorAed | ) e 5§ d) > €8

12. Sgrodn o8 I)d 6dyd 3h "03)" (Panna) A & Gotd?

a) &a6HA% b) Soainde c) rhaod d) oY
13. @68 Tarforrd) drdotodHa?

a) 9208 b) DGR Dodwo | ¢) SEDE | d) TR

Rdgge (Constituent Assembly)
14. 270 B30t "Dy D" (Space City)m SErOoEs Da?

a) POTrErS b) Sdotlo c) Sorirda d) B TA LT}

15. 2 oo Jor Hoddrda Frodo 2.8 ws RAAD (representative) Trafosd Dolpcood?

a)  oddb

b) &b

c) Ao

d) Sodiwb

16. faasm&.:: RoafL 63 (series)es® 2.¢ SEES T, 20 23 RIAFTFTYY Mlodod.
=i =4, 6,12, 14, 28, 30 '

a) 32

b) 64

c) 62

d) €0

17. 886 885 wd modair (CCl), ghé DDaHS
656 Booth i 67

2y

(Classic Billiards) So8csw ::a»lsé (Snooker)

a) ovirod &

b) Dosd asrh

c) Do w:s'.r}«".\

d) do. 25. &b
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18. @dgudd Fan 6" 29) S &) S SRofRodn?

19. 20y sod' 8 B Lz i B Bl VNS VHHUD DB ?

a) 16

b) 13

c) 9

d) 7

a) JuLS oS b) € c) fode £8 d) 26 e
20. 28 Sew (Plastic Currency) 93% DLBES PHED) RodSGo?
a) 2018 b) 2015 c) 2016 d} 2020
21. =6 St (Paper Currency)modair & estododedsa?
| a) 1862 b) 1542 c) 1601 d) 1680

22, wrod-ll (Bharat-11) 322 motodol)nG?

23.

a) oo Srensyo
(Air Pollution )

b) mu sreniye i ¢) dr seodye (Land
(Water Pallution )

Pollution )

d) #» sendyo (Sound

Pollution)

J0LS DA E Bos), For 000 Ford dardan?

arEd TjaAr

b}‘ sgu

§'§ Tehdurs

¢) 2 Trjoidard

d) Juakhes
=

24. arad $680 (Human Body) & 65 Ho060I(Blood Circulation) smﬁ‘alcs Qa6 7

25. w8 &0 SRy (Massive Object) e (At rest) ey ind oo @3 Hridw

a)aecd 836

b) &5 b5

| ©) DBaiso e

d) &> =5 Deaely

{Momentumn )?

a) orer wdso

(Very Large)

b) oo

(Very Small)

LN c) Brdgo (Zera)

d) esrdoddo (Infinity)

-0)0(o-
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SET-B

DEPARTMENT OF POSTS-INDIA
MTS DIRECT RECRUITMENT EXAMINATION FOR THE VACANCIES OF 2000-12
ANDHRA PRADESH CIRCLE

PART-B MATHS

Date: Marks: 25 x 1= 25
Multiple Choice Questions-All questions carry equal marks. These are to be answered
by writing the correct option in your answer sheet

0.3 wnﬁw ffo Ropgees’ (Number of 3 digit) ed DY BETH Doay (Prime Number) H&?
a) 102 b) 101

c) 100 d) 103
02. 237 x 72 x 28 x 15 clws), upaw (Product) " parn Doy D&?
a) 6 b} 5 c) O d) 1
03. & 20b éwow) (Decimal) Qo (Fraction) aroyea? 1.23
0.25
a) 123 b) 123 c)12.3 d) 1230
25 25 25 25
0%. 25 @08 dins), Both SR ruriomre(Multiples) 2wda0 184, & Bomy D?
' a) 8 b) 12 c) 1 d) 232

05. &8 80 & &) 1000 s Jyhes’ 70% Irocodpen, 16% Jvddwen, 4% by
oain WHBD T DR WIS S0 Wowf Jod?

a) 150 b} 200 c) 125 d) 100
06. 63D O3 0can? 25.3 + 0.32 + 2.132
a) 277.52 b) 2.7752 ic} 27.752 d) 2775.2

07. 2o0ch Soboiny Boctd Moy, PGS Ronis’ 20% DBy 40% SEHM D &) D. LopHS
Botisd Doy’ Dt Doy Jod Tdo?

a) 40

b) 50%

c) 60%

d)

30%
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08. &8 20LY" edhd obod 33X Srdyew osvomw. 210 Arduen SO we e, 21
Arde 86 & DL SbyTr. e DELS” Aoy AL Doy Jos?

a) 700 b} 680 cl 720 d) 750

09. A:B=4:5, B:C=6:7 @005 A:C=

a) 28:30 b) 20:42 | c) 28:42 | d) 24:35

10. 1200- Grdrabes 3:4:5 DB oo, 0 Dwbain Ay S DBReSHAID. DI 8 Terd
Doy TAW) doed?

| 3) d. 300- b) &, 500- c) dr. 400- d) ar. 600-

11. . 8, 21, 13 20ociw 31 esds BWoSen/Dop(en WS (Proportional) emeo, & e
©oSen/Doajus’ PO rIS D wod M SUHITT

al’s b) 6 c) 8 d) 7

12. 16 Subodw 36 dlog), e wdoard (Mean Proportional)doed?

a) 22 b) 24 c) 28 d) 18

13. w8 opdroRo, 1 824 whp®-800 mave 4rsy an od, SRUDHuS Sy oo
RI000L BRI €. DR BER) OFD THED Jod?

a) 20¥% b) 30¥% c) 15% d) 25%

19, w8 Sgodp dr. 40- 8 EIndS6. 25% orziam Toon, & 52050 Jods) vl IT:?

a)40 b) 55 c) 50 ‘ d) 45

15. 2 Fara) a6 den &, Foo Tauy- 0 (5) Rodaydanos’ ddedrbmn?

a) 3% b) 5% c) 10% id] 20%

16. 10% Fardy dg wiioy 28 wrjel ', 050 Eodd Ty AFae SHTD. 5 HodS 3w ST
©O: 30000 ardraben Tobdd', wd ol & At 3 Taw) Jod?

a) g> 20,000- b) &> 20,500- c) d» 22,000 d) a» 21,000
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17. 6 Dodwdv (Observations) s, Bty (RT70) 12.7 o H80% (Observation) Db Hritw
(RU0) SaHin (1) S, wassS' 7 & H6%ws (Observation) Jos?

a) s

b) 4

c) 6

d) 3

18. 10 Quow s ady 85 D cwe) Tas' 4 % SoER S w8 I8 83 TapH Jod

a0 Tosod?

a) e

b) 5%

c) 3%

d) 4.5%

19, Do (7) RELERLYY w8 Ddwow ﬁ:uﬁb e (Domns) dodin 18 Rodd\Gaen. Stvoe

DG AT aveHS, AdS PEe cdog) i (o) Sobrd 5 DoSOGa0 b,
eSS Srénow) D damrn gaofiua.

a) 50 QoD Eawen

b) 48 oidGien

c) 42 ﬁoééﬁdsﬁMm

d) 46 DoBdBycIen

20. fobsy 48 8¢° Dowg Didnd ws AR Lm Food Arcandy 9 Ao’ HoIrHomd. od
Sroinio 8 fobwd’ Hoirdedndn®), RO Jod Didnd” pairtodsdin?

a) fotas 54 .5,

b) Hotagy 52 &, b,

) oty 58 3, o,

d) totas 60 2. S,

21.

2.8 DO DLt SE60) Brbees s SrG,E, 06 JodDh DIrHN?

ﬂ] 3(—5 '55-’.%

b) 10.76 &. .

c) 9.9 <. ea.

d) 10.5 <. e,

22,

PSR 10 WGH- ot 365" D0gs'S aro oS

| a) fiotash 40 &.20.

b) fotasH 32 &.50.

23.

c) fictash 36 &.20.

d) dotres 38 &, 5,

flotath 72 36 Dokag Bridiono- DEMEL Dowrg '8 ar0yS Brtsw=

a) DR 30 Db

b) R 20 Dokt

c) S 15 Dotacd

d) 2050 40 hmgﬂ

24. A 200010 B 030 A0S 24 865 Dot HEADTEH. T76 Srdw ), DB Mok 7 36 Db
200 SRoDHB) HELIHD DN, NG 14 ok, DS T6 Hriswen Jos?

a) 4,3

b) 5, 2

c) 1,6

d) 264 s

25. &r 1800- 5% F02w erjosh @ns) oheiy (Discount) , ©d stoiw(Time) 3% wd 865 & or

1830- » A& Shoip (True Discount) £ HAFH2ST, srws0 (Time) Jod?

a) 6 Do

b) 12 Deen

c) 4 Aoen

d) 5 dvew

-0)O(o-




